0-CNF-SAT

CNF wwse each term \r\@g exackly oo Utesals
F= (va) N <5\VE) A (Evc,j A (EVE)

The four terms wust ath be true.

(avb) = Oor b is Yve
= 3f O0is false b wwsr be true

andk 1f b if folse , o st be trve
(ow\o\z (52—-)‘0\)/\(_\;:)0\)
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CNF wwse eacdn term has excctiy oo Utesals
F= <avb) IN Cava\) A (Evc,) A (Ev-c-;) A (av \Q\)

The fovr terms st alk be true.

(av®) = Oor b is Yrve
= if ocis false, b wwsk be true

ank if b if folse, o- st be trve
(ow\o\ z (a=>k) A (-\;_—-:)0\)

so F=(a=k)A(a® ) A ()o-»C)A(loéa) A (a=b)
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